ARL#ER K

ZHES 150239 £ K 2 A AL o# B RMETEFEH<ES>
I % £ |[R2fEL EiE438% f-L/\F ERHRIE(2)
B R & % |—REE438F
I % & |RemLE/N\FEE (FE228)
ZHFED |SM2E12A48 ¥ E I # $M2E12A58 ~ HM3EFIA30A
B AL B B |[SF2€E11H208 1385005 % FESRRBRLIEHRERTEIMALE
& & % AL OB (W) F E @ & (FR) B A (A SV LIRS
¥74,195,000 ¥82,720,000 ¥73,892,500
HASHERER % fL B (k) F E @ OE (k) TR (k) 1.0015
¥67,450,000 ¥75,200,000 ¥67,175,000
KA EAEME (FA)
FHEE = =4 =1 = B &
- 22} ( EHEm + mES ) AFLiEHE (B EM) ¥73,075.200
B o KIEREMIE (Biik)
H= =1 H=(1B5485+ = P &
ERR=100m, MER=(FRAH-EAEEH) X165 ¥66,432,000
= =3 ( YRIFE =
RET e AR
EDHETEE
XOBIED | “omTeen IS BAE R AR
I - HiEA
AR B mES s s Ao ML at | | AAEE | EE | #E
I 150 | o | B T | SE0 | e | TEER pene REME) mpy w0 | P A
| % |9 am | CP0 | g | X2 #E s 4 sy redins T
ThE
(158) | GR) [(BA)| 6R) | BR) |(158) | 6R) | GHK) (58 @28 (B5R) | (68 - (105) (805%)
HASHERER 1 15 5| 0| 5|5 /|15] 5 3 5 2 5 5 | - | 10 0 80 | 1150 | ¥67,450,000 | 170.497 |3%4L
FtEHA R 2 |15 5 | 0 5|5 15| 5 3 5 2 3 5 - 10 0 78 | 114.6 | ¥67,400,000 | 170.030
BBESHAR 3 (155 | 0|5 ]|5]|12] 5 3 5 2 5 5 | - | 10 0 77 | 1144 | ¥67,344,000 | 169.874
HASHER 4 |15 | 5 1 3 |5 |11 5 3 5 2 5 5 - 0 0 65 | 112.2 | ¥67,500,000 | 166.222
PR T I EGRARM| 5 | 4 | 5 | 0 50 3 0 0 0 0 0 5 - 10 0 32 | 106.0 |¥75,200,000 | 140.957

it




